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SAMPLE QUESTIONS ON ESSAY TYPE QUESTIONS
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Question 1

Mrs LEE who has suspected macrosomia is admitted today due to show. The
followings are the findings of her vaginal examination.

PREER BN - WS RNRLLARE - LUNZ2MAvz Eie 45 R -

@ Mark the Per Vaginal (PV) findings below onto the partograph IN THE

ANSWER BOOK.

LN 2 E R B E RS

I ERE L -

1) Vaginal examination No. 1
Time: 08:00
Cervical Dilatation: 4cm
Presenting part: Cephalic

1) F—RziEmE
R © 08:00
ESHER ¢ 4om
SeEREl ¢ GE

Position: ROP
Station: S!
* Membranes ruptured with clear liquor
* Start syntocinon infusion for
augmentation of labour

Position: ROP Aefir « Gtz

Station: S SR N - ST
2) Vaginal examination No. 2 2) B RKzERmE

Time: 10:00 H¥fE + 10:00

Cervical Dilatation: 4cm SRR ¢ 4em

Presenting part: Cephalic JeEE il - U

fair * ke

ST AT © S
« BABIEERY » AR
SN = ST

3) Vaginal examination No. 3
Time: 12:00
Cervical Dilatation: 6cm
Presenting part: Cephalic
(Caput+ > Moulding +)

3) B=KIzEGE
%R © 12:00
=SSR - 6em
JeFEE - UH
(5LBE/KRE+ > SAEESE + )

Cervical Dilatation: 6¢cm
Presenting part: Cephalic
(Caput++ > Moulding ++)
Position: ROT
Station: S°

e clear liquor

Position: ROT S A ST
Station : S° S TR K + SO
» clear liquor * FKAER
4) Vaginal examination No. 4 4) B[ EfmE
Time: 14:00 B[ - 14:00

=SSR - 6em

SR ¢ GE

( GeEEKRE + + >
LRSS + + )

BaAr © AR

SeBRH /K« SO

o FIKER

(6 marks)

NIT)
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(b) Based on the partograph, what is 1) the diagnosis (1 mark), 2) contributing
factors (2 marks) & 3) action (1 mark)?

ISR EIVE R - 1)28T (—57) > 2)a53NZ (W70 )R )T T2 (

)

(4 marks)



Question 2

Mrs CHAN, a primipara, has given birth 3 days ago and she breastfeeds her baby
well. Today, her baby’s serum bilirubin level is 250 umol/L and she is transferred
to neonatal unit.

WA > FIERE » = HATH MR - BRI R - 5K @ @hBE A EHE
41 Z /K3 By 250umol/L - H T4 5aIn )

Diagram [&]—

@) Referring to the above diagram, what treatment is her baby undergoing? (1 mark)
RYE L8 - A8 S RS2 AT A HR? (—51)
(b) List TWO side effects of the above treatment. (1 mark)
FIH i E R RIEEIE A - (—51)
(c) State the care of her baby on the above treatment. Give THREE. (3 marks)
st BH R B ERIERY = (EEEH - (=97)
(d) As a midwife, how are you going to advise Mrs CHAN as a breastfeeding (5 marks)

mother whose baby is admitted to neonatal unit for this treatment?

PRAHI#D A B 5L T A SR P i 2 BalH e - (FR—BhE L (F.57)
» AT T AN E E S R FLEBRAVBROR 2



Question 3

Mrs WONG is a 38-year-old, gravida 1 parity O clerk. Her pre-pregnancy body

mass index (BMI) = 30kg/m2. She has no history of diabetes mellitus. The result
of 75gm Oral Glucose Tolerance Test (OGTT) at 20 weeks’ gestation shows
6.5 mmol/l (fasting) & 12.0 mmol/l (2 hours postprandial).

Bk 38 BRI SC B o B F T Y B B E S 2k 30kg/m? o 4
A MEPR S S o R4k 20 4 - b AV 75 O A A 0 I & O B &S R U
6.5mmol/l (ZZfE)K 12.0 mmol/l (&% 2 /NIF) -

@ What is the diagnosis?
2B AT 2

She is advised by a Dietitian to start on a 1,800 kcal diet with home blood glucose
(H’stix) monitoring and her H’stix results are as follows:

BEM RSB 1,800 FRER > A ETEEMBEEZE - 41
MmwE R ElaE BT -

Figure 1 (see P.4) [E— (5 4 H)

(b) Give THREE comments on her glucose control.

Ay MmEERTE  SH=H8X -

(©) What will be the subsequent management of her pregnancy?

FEAE R IR - AR RE & 40 o g 2 7

(1 mark)
(—57)

(3 marks)

(=57)

(6 marks)
(7547)



Question 3

Figure 1 [&—

Department of Obstetrics and Gynaecology

IRER

Home blood sugar monitoring for antenatal women

KPS (B

Name
Age

W
Fpk o 38

Mrs Wong =K

Blood su%ar reading

MMAEEE
Breakfast F& Lunch & Dinner B&
Date Maturit
H A y Half 2 hours rl;|alf 2 hours Elalf 2h
MR a after our after our ours
hour before before after
# before meal 2 meal & meal % meal & | meal &
moal 2] %W/J\ 22802 LT %W/J\ VNN %
12-3-2019 | o1 2/7 6.3 75 5.8 8.1 5.7 8.7
15-3-2019 | 91 97 6.1 8.0 6.0 7.2 6.2 8.2
19-3-2019 | 9o 2/7 6.0 7.9 5.9 7.8 6.3 8.9




Question 4

@) Define Disseminated Intravascular Coagulation (DIC). (2 marks)
FUIE R EME LB N BE A - (R 57)

(b) State FOUR obstetric events that may cause DIC. (2 marks)
B O B 5 [ S0 B B N BE A Y EERHE L - (’i57)

(©) Regarding replacement therapy for DIC, give THREE types of (6 marks)

replacement and list their related functions.

FE A PRI E AR SS Y BRI e T I > B =M e an > (7597)
It EMAIHE ZhAE -



Question 5

Mrs CHAN is a 36-year-old, gravida 3 parity 2 housewife with 2 previous
normal vaginal delivery at term. Her antenatal course is uneventful.

Premature rupture of membranes occurs at 39 weeks with blood-stained liquor.
The fetus is in cephalic presentation, therefore, an induction of labour by
syntocinon infusion is started.

PR - 36 B IE X > G3P2 > B e HHATHW K - 2 XK
MERME —-VIIER - NEIR 39 BB R > F/K&1Mm
BHSCEE o WBHG LA E R ESIE -

@ Identify risk factors for Mrs CHAN.

i E R RH E N & -

(b) Figure 1 (see P.7) shows the -cardiotocography (CTG) when
syntocinon infusion starts. Describe the CTG tracing.

B — (R85 7 H BN 7 23 B R I B 0 % e A B 3
4 B A -

(©) Figure 2 (see P.8) shows the CTG tracing when the cervix is 6 cm
dilated. Describe the changes in the CTG tracing.

Bl (255 8 EDEURE S SRR 6 BOKISH LR & i i
B 4 o B P 22

(d) An hour later, the cervix becomes fully dilated. The fetus is in vertex
presentation, and at S*2 Jevel. Figure 3 (see P.9) shows the CTG

tracing at the ond stage of labour. What does the CTG tracing show
(1.5 marks)? What should be your immediate action (2 marks)?

BEe — /NS BEEEeEE HAEE ST AT B
(R 9 EVELE _ERNBLOREFHE WEETE
EEE G (— BT AY) o JE % ER U T I T 80 (43 )?

(3.5 marks)

(=HH57)

(2 marks)

(W 43)

(3.5 marks)

(=Hh 1 57)



Question 5

Figure 1 [&—
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Question 5
Figure 2 [& —
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Question 5
Figure 3 [E =
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Question 6

(@)

(b)

(©)

(d)

Name the above instrument.

%5 b 0B o 6 58 19 4 6 -

State the indication for using this instrument during labour.

st B AE o3 S S o o (o A 6 S Y O EE

Describe how to use this instrument during the active phase of the first
stage of labour?

i A0 AE 53 5 55 — JU B O R ST o o 40 R R R S 2

List THREE normal findings which can be obtained by using this
instrument.

I BB RS e S BB = IEHE F 0 -

(1 mark)
(—51)

(2 marks)

(i 57)

(5 marks)

(FL57)

(2 marks)

(Wi 53)



Question 7

Mrs WONG, parity 1 and aged 38, is admitted to the antenatal ward at 34 weeks of

gestation. Her body temperature is 39°C, and pulse rate is 110 beats/min. She has
complained of chills and mild lower abdominal pain since last night. She denies
any leakage sensation or sign and symptom of Flu in the past few days.

EXR 38 L Yok — K PRIk 34 BAEERKEE o dhiVEE R
= 39°C WRAAFE 57 88 110 2K o i B &7F b e B B 45 75 S MR 0 F0 T B
WA WE - BEEKRIIZHEZF KSR E #OR -

@) Based on the above clinical features, what are the possible diagnoses?

fRIE A ER IR BN - 2 B el ge & AT 7

(b) Give FOUR laboratory investigations to confirm the diagnosis:

EHUEHUEZ O LERERE -

(©) Besides laboratory investigations, describe FOUR other crucial
management plans for Mrs WONG.

Pr 7 At B be A o fi i o R il VO (8 S Y B A

(d) Give FOUR signs of deterioration in Mrs WONG’s condition.

55 PO i i B £ RS DB AR R EUIR -

(2 marks)
(R 73)

(2 marks)

(Wi 53)

(4 marks)

(P57 )

(2 marks)
(W9 77)



Question 8

Mary attends the Midwife-led Clinic today. This is her first pregnancy at 37 weeks
of gestation, her antenatal course is uneventful.

WHI S REBELZHEZ - ESWAE -2 4k 37 H >
Y ATE L — UIIEE e

On abdominal palpation, you note the following condition:

R E g Ay - IR LLT B

(@) Document your findings. (3 mark)
SCEk IR P TR AR 5 - (=77)
(b) List THREE possible causes of the above condition. (3 mark)
FIH Bt g oy = a g A& - (=77)
(©) State FOUR immediate management. (4 marks)

S5t B 1O {8 BB R B - (157)



Question 9

Choose the single most appropriate answer from below. Each answer can be used once, more than
once or not at all. (4 marks)

YIS — (B SN EZE » BEFEEE R - ZREABERE - (453)

A Gynaecoid pelvis
peq v b= en

B Android pelvis
R

C Anthropoid pelvis
NS &

D Platypelloid pelvis
JRALE &

T

K

Answerz:z£

i

1.  The shape of brim is kidney shaped

BEOZ2EHP

2. The pelvis is funnel shaped

B RS IR

3. The ischial spine is blunt

AB IR

4. Type(s) of pelvis favor(s) OP position
YR SITAE NN R Rl = ey

5. The sacrum is well-curved

AU By

(b) Give four landmarks of an obstetric outlet. (2 marks)

BHE A CIARYPOEREES - (273)

(c) Give four features of an adequate pelvis. (4 marks)
B G 7 1R E RA Y (E R



QUESTION 10

The following diagrams show the ECG stripes, please circle the correct answer: (2 marks)

IEI Ry EEE > ERRE HIEREEE

Ventricular fibrillation

il
Al
VA f B T i, o
_.-" Vi VAN S fan S

1. Shockable rhythm / Non-shockable rhythm
AR OE [ AR OE

Pulseless ventricular tachycardia

MR AARAN *[MMLW""”

2. Shockable rhythm / Non-shockable rhythm
AR OE [ AT

Pulseless electrical activity

Lo lbel e e i

3. Shockable rhythm / Non-shockable rhythm
AL [ RA R

Asystole

4. Shockable rhythm / Non-shockable rhythm
AR OE [ AR OE




(@) Give four causes of maternal collapse associated with pregnancy. (2 marks)

RHBURAAR] - 5| B BRI VU(E A -

(b) Briefly describe four important components on high-quality Cardiopulmonary

Resuscitation (CPR) for a pregnant woman. (6 marks)

Rl 2 e T B 2 DR AR T [ E T -



QUESTION 11

A 42 year-old primiparous has delivered a male baby with birth weight 3.0 kg by caesarean
section. She has breastfed her baby exclusively since baby was born. On postpartum Day 3, the
baby’s transcutaneous bilirubin is raised and the serum bilirubin is checked to be 280 [Jmol /
L. He also has weight loss to 2.76 kg. The mother is informed that her baby is confirmed to
have G6PD deficiency.

—{i 42 R LAEIRE AR N — 4 3 N THVEEE - BB MR LI R AR -
FERF =K » BNV ZIELLER ErhmiaigiUEEsI R R 280 Imol / L - fAYASEEIR [N
F 276 N7 o w5 RS R/ B L a e R S B R G IE

(@) What assessments are required for the mother and baby? (2 marks)

5 Ry BB B2 SE M TR R AL ?
(b) State the management and care for the baby. (4 marks)
st A B S B B AIGE R -

(c) Briefly describe the education and counseling that should be offered to the mother. (4 marks)
il FE AT R PR R 2 R -
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QUESTION 12

Mrs Ho, a primipara, has had an OGTT done at 28 weeks of gestation. The result shows a fasting
blood sugar of 5.4mmol/L and 2 hours postprandial of 8.7mmol/L. You are the midwife
counselling her.

IATE A - PR 28 HETT LI kg &M Sl - SERBURZERR MMBE{E R 5.4 mmol/L

K R g M & W/ NS Y IR (EL R 8.7 mmol/L - R 2 fiE iy B - -

1. Give dietary advice to Mrs Ho regarding her result. (5 marks)

PRI BRdE RE4E T VB B ek

2. Explain the maternal complications of her condition. (5 marks)

FERRRLLTE L MRS EIEYPFERE -
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